CONSTRUCTION OF WATER, SANITARY SEWER, AND DRAINAGE TO SERVE MAGNOLIA FOREST SECTION 2
MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 218
MONTGOMERY COUNTY, TEXAS
NOVEMBER 20, 2024
LJA ENGINEERING, INC.
S. YOUNG
NOVEMBER 20, 2024

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

TOTAL AMOUNT BID

0386-5862D (9.2)

## BIDDER'S NAME

1) DIMAS BROS. CONSTRUCTION	\$2,466,000.00
2) CROSTEX CONSTRUCTION INC.	\$2,530,000.00
3) TEXASITE, LLC	\$2,532,618.27
4) R CONSTRUCTION CIVIL, LLC	\$2,644,520.40
5) BLAZEY CONSTRUCTION SERVICES LLC	\$2,755,242.60
6) KENNETH LAMB CONSTRUCTION CO.,LTD.	\$2,833,511.00

CALENDAR DAYS 85/90

I, EVAN ROHNE, P.E., hereby certify these bid tabulations to be true and correct.



FRN F-1386 LJA Engineering, Inc.

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

DIRECTED BY THE ENGINEER), COMPLETE IN PLACE

CONSTRUCTION OF WATER, SANITARY SEWER, AND DRAINAGE TO SERVE MAGNOLIA FOREST SECTION 2 MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 218 MONTGOMERY COUNTY, TEXAS NOVEMBER 20, 2024 LJA ENGINEERING, INC. S. YOUNG

				1) DIMAS BROS. CO	NSTRUCTION	2) CROSTEX CONST	TRUCTION INC.	3) TEXASI	ΓE, LLC
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
SECTION 2 PART A W.	ATER ITEMS								
	PIPE, C-900, DR 18, ALL DEPTHS, TO INCLUDE BEDDING, ALL NDS, FITTINGS, AND RETRAINED JOINTS WHERE REQUIRED, LACE	LF	2310	\$68.45	\$158,119.50	\$66.65	\$153,961.50	\$68.00	\$157,080.00
	PIPE, C-900, DR 14, ALL DEPTHS, TO INCLUDE BEDDING, ALL NDS, FITTINGS, AND RESTRAINED JOINTS WHERE REQUIRED, LACE	LF	743	\$100.80	\$74,894.40	\$121.50	\$90,274.50	\$208.00	\$154,544.00
	OR 12" WATER LINE AT ALL PAVEMENT CROSSINGS, INCLUDES LIZED SAND, COMPLETE IN PLACE	LF	289	\$42.00	\$12,138.00	\$169.00	\$48,841.00	\$135.00	\$39,015.00
	PIPE, C-900, DR 18, ALL DEPTHS, TO INCLUDE BEDDING, ALL NDS, FITTINGS, AND RESTRAINED JOINTS WHERE REQUIRED, LACE	LF	38	\$39.00	\$1,482.00	\$33.00	\$1,254.00	\$33.00	\$1,254.00
	PIPE, C-900, DR 14, ALL DEPTHS, TO INCLUDE BEDDING, ALL NDS, FITTINGS, AND RESTRAINED JOINTS WHERE REQUIRED, LACE	LF	54	\$42.00	\$2,268.00	\$112.00	\$6,048.00	\$80.00	\$4,320.00
	OR 8" WATER LINE AT ALL PAVEMENT CROSSINGS, INCLUDES LIZED SAND, COMPLETE IN PLACE	LF	37	\$78.00	\$2,886.00	\$145.00	\$5,365.00	\$68.00	\$2,516.00
	UNIT, ALL DEPTHS, INCLUDES APPROPRIATE TEE, 6" GATE VALVE AD AND FIRE HYDRANT, COMPLETE IN PLACE	EA	5	\$5,518.00	\$27,590.00	\$5,500.00	\$27,500.00	\$5,525.00	\$27,625.00
WATER SERVIC	UBLE OR SINGLE SERVICE, 1" (CTS POLYETHYLENE, SDR-9), E INCLUDES TRENCH SAFETY, METER BOX, CURB STOP, AND ALL INNECTORS AND TAPS, COMPLETE IN PLACE	EA	15	\$840.00	\$12,600.00	\$735.00	\$11,025.00	\$881.00	\$13,215.00
WATER SERVIC	BLE OR SINGLE SERVICE, 1" (CTS POLYETHYLENE, SDR-9), E INCLUDES METER BOX, CURB STOP, TRENCH SAFETY AND ALL DNNECTORS AND TAPS, COMPLETE IN PLACE	EA	23	\$1,684.00	\$38,732.00	\$1,435.00	\$33,005.00	\$1,483.00	\$34,109.00
10 12" AWWA GATE	E VALVE AND BOX, COMPLETE IN PLACE	EA	16	\$3,075.00	\$49,200.00	\$3,150.00	\$50,400.00	\$3,671.00	\$58,736.00
11 8" AWWA GATE	VALVE AND BOX, COMPLETE IN PLACE	EA	1	\$1,610.00	\$1,610.00	\$1,720.00	\$1,720.00	\$1,963.00	\$1,963.00
	ING 12" PLUG AND CLAMP AND 2" BLOW OFF, VALVE, PROPOSED WATER LINE, COMPLETE IN PLACE	EA	1	\$484.00	\$484.00	\$750.00	\$750.00	\$1,445.00	\$1,445.00
	D STEEL CASING FOR 12" WATER LINE, (EXCLUDES CARRIER S BORE PITS, SPACERS AND END SEALS, ALL DEPTHS, LACE	LF	52	\$200.00	\$10,400.00	\$275.00	\$14,300.00	\$225.00	\$11,700.00
14 12" X 6" TAPPING	G SLEEVE & VALVE, COMPLETE IN PLACE	EA	1	\$6,000.00	\$6,000.00	\$5,000.00	\$5,000.00	\$6,845.00	\$6,845.00
15 TRENCH SAFET	Y SYSTEM, ALL DEPTHS, COMPLETE IN PLACE	LF	3145	\$1.00	\$3,145.00	\$1.05	\$3,302.25	\$1.00	\$3,145.00
	OF WATER LINE WORK (TO BE USED ONLY AS HE ENGINEER), COMPLETE IN PLACE	LF	800	\$22.00	\$17,600.00	\$22.00	\$17,600.00	\$22.00	\$17,600.00
	IND COMPACT WATER LINE UTILITY SPOIL, IRECTED BY THE ENGINEER), COMPLETE IN PLACE	LS	1	\$3,000.00	\$3,000.00	\$2,000.00	\$2,000.00	\$3,375.00	\$3,375.00
18 EXTRA CAST IR COMPLETE IN P	ON FITTINGS (AS DIRECTED BY THE ENGINEER), LACE	TON	1	\$100.00	\$100.00	\$1.00	\$1.00	\$1.00	\$1.00
SECTION 2 PART A WA	ATER ITEMS SUBTOTAL:				\$422,248.90		\$472,347.25		\$538,488.00
SECTION 2 PART A SA	ANITARY SEWER ITEMS								
1 8" PVC SEWER	PIPE, STM D-3034, SDR 26, 0'-8' CUT (TO BE USED ONLY AS	LF	895	\$48.15	\$43,094.25	\$32.00	\$28,640.00	\$40.00	\$35,800.00

NOVEMBER 20, 2024

0386-5862D (9.2)

Page 2 of 15 LJA Engineering, Inc.

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF WATER, SANITARY SEWER, AND DRAINAGE TO SERVE MAGNOLIA FOREST SECTION 2
MONTGOMERY COUNTY WINICIPAL UTILITY DISTRICT NO. 218
MONTGOMERY COUNTY, TEXAS
NOVEMBER 20, 2024
LJA ENGINEERING, INC.
S. YOUNG
NOVEMBER 20, 2024
0386-5862D (9.2)

20/1002 110.				1) DIMAS BROS. CO	ONSTRUCTION	2) CROSTEX CONS	TRUCTION INC	3) TEXASIT	FIIC
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
2 8" PVC SEWER PIF	PE, STM D-3034, SDR 26, 8'-12' CUT (TO BE USED ONLY AS ENGINEER), COMPLETE IN PLACE	LF	290	\$48.60	\$14,094.00	\$36.00	\$10,440.00	\$42.00	\$12,180.00
	PE, STM D-3034, SDR 26, 12'-16' CUT (TO BE USED ONLY AS ENGINEER), COMPLETE IN PLACE	LF	1351	\$48.65	\$65,726.15	\$40.00	\$54,040.00	\$43.00	\$58,093.00
	PE, STM D-3034, SDR 26, 16'-20' CUT (TO BE USED ONLY AS ENGINEER), COMPLETE IN PLACE	LF	515	\$53.65	\$27,629.75	\$46.00	\$23,690.00	\$45.00	\$23,175.00
	SITE DISPOSAL OF EXISTING 6" PLUG AND CLAMP AND SED 6" FORCE MAIN, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$884.00	\$884.00	\$750.00	\$750.00	\$658.00	\$658.00
	IN, C-900, DR 18, CLASS 235, INCLUDES FITTINGS, CKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	2584	\$28.75	\$74,290.00	\$25.50	\$65,892.00	\$30.00	\$77,520.00
	STEEL CASING FOR 8" SANITARY SEWER, (EXCLUDES CARRIER RESTRAINED JOINT PIPE AND BORE PITS, ALL DEPTHS, ICE	LF	52	\$225.00	\$11,700.00	\$260.00	\$13,520.00	\$225.00	\$11,700.00
	STEEL CASING FOR 6" PVC FORCE MAIN, (EXCLUDES CARRIER AESTRAINED JOINT PIPE AND BORE PITS, ALL DEPTHS, ICE	LF	52	\$200.00	\$10,400.00	\$210.00	\$10,920.00	\$225.00	\$11,700.00
9 STANDARD SANITA DEPTH), COMPLET	ARY SEWER MANHOLE FOR 6"-24" SANITARY SEWER PIPES, (8' TE IN PLACE	EA	16	\$3,555.00	\$56,880.00	\$3,700.00	\$59,200.00	\$2,868.00	\$45,888.00
	DEPTH OF STANDARD SANITARY SEWER MANHOLE, COMPLETE IN PLACE	VF	95	\$140.00	\$13,300.00	\$370.00	\$35,150.00	\$185.00	\$17,575.00
11 STANDARD 2' SAN	ITARY SEWER DROP STRUCTURE, COMPLETE IN PLACE	EA	6	\$684.00	\$4,104.00	\$500.00	\$3,000.00	\$594.00	\$3,564.00
SDR 26, ALL DEPT	BLE OR SINGLE 6" PVC PIPE SERVICE LEADS, ASTM D-2241, HS, INCLUDING CEMENT STABILIZED BACKFILL, TRENCH IYE, STACKS, PLUG, MARKER AND ANY NECESSARY FITTINGS, N PLACE	EA	10	\$3,600,00	\$36,000.00	\$2,550.00	\$25,500.00	\$2,253.00	\$22,530.00
D-2241, SDR 26, AI TRENCH SAFETY,	UBLE OR SINGLE 6" PVC PIPE SERVICE LEADS, ASTM LL DEPTHS, INCLUDING CEMENT STABILIZED BACKFILL, RISER, WYE, STACKS, .PLUG, MARKER AND ANY NECESSARY OMPLETE IN PLACE	EA	26	\$984.00	\$25,584.00	\$1,125.00	\$29,250.00	\$693.00	\$18,018.00
14 STANDARD 6" SAN	IITARY SEWER STACK, COMPLETE IN PLACE	EA	25	\$284.00	\$7,100.00	\$425.00	\$10,625.00	\$450.00	\$11,250.00
15 8" SANITARY SEW	ER PLUG, COMPLETE IN PLACE	EA	7	\$10.00	\$70.00	\$50.00	\$350.00	\$433.00	\$3,031.00
16 REMOVE AND DISI PROPOSED 8" SAN	POSE OF EXISTING 8" PLUG AND CONNECT NITARY SEWER	EA	2	\$84.00	\$168.00	\$500.00	\$1,000.00	\$658.00	\$1,316.00
17 TRENCH SAFETY	SYSTEM, ALL DEPTHS, COMPLETE IN PLACE	LF	3051	\$1.00	\$3,051.00	\$1.10	\$3,356.10	\$1.00	\$3,051.00
	8" SANITARY SEWER LINE WORK, (TO BE USED ONLY AS ENGINEER), COMPLETE IN PLACE	LF	1200	\$22.00	\$26,400.00	\$22.00	\$26,400.00	\$22.00	\$26,400.00
	F OF SANITARY SEWER BEDDING AND BACKFILL FOR Y SOIL CONDITIONS, (TO BE USED ONLY AS DIRECTED BY THE PLETE IN PLACE	LF	1200	\$8.00	\$9,600.00	\$8.00	\$9,600.00	\$8.00	\$9,600.00
	COMPACT SANITARY SEWER UTILITY SPOIL ON DESIGNATED IE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN	LS	1	\$4,000.00	\$4,000.00	\$5,000.00	\$5,000.00	\$6,188.00	\$6,188.00
21 CONTRACTOR SHA COMPLETE IN PLA	ALL TV AND CLEAN PROPOSED SANITARY SEWER (ALL SIZES) , CE	LF	3051	\$1.00	\$3,051.00	\$3.50	\$10,678.50	\$0.01	\$30.51

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF WATER, SANITARY SEWER, AND DRAINAGE TO SERVE MAGNOLIA FOREST SECTION 2
MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 218
MONTGOMERY COUNTY, TEXAS
NOVEMBER 20, 2024
LJA ENGINEERING, INC.
S. YOUNG
NOVEMBER 20, 2024

20,002,00			1) DIMAS BROS. CO	NSTRUCTION	2) CROSTEX CONST	RUCTION INC.	3) TEXASIT	E, LLC
ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
SECTION 2 PART A SANITARY SEWER ITEMS SUBTOTAL:				\$437,126.15		\$427,001.60		\$399,267.51
SECTION 2 PART A DRAINAGE FACILITIES ITEMS								
1 18" HIGH PERFORMANCE CORRUGATED POLYPROPYLENE DUAL WALL STORN SEWER, ASTM F2881 OR AASHTO M330, ALL CUTS, TO INCLUDE BEDDING AND BACKFILL AND CEMENT STABILIZED SAND BACKFILL UNDER AND WITHIN 1' OF PAVING, FITTINGS AND ALL APPURTENANCES, COMPLETE IN PLACE		725	\$59.00	\$42,775.00	\$47.00	\$34,075.00	\$45.00	\$32,625.00
2 24" HIGH PERFORMANCE CORRUGATED POLYPROPYLENE DUAL WALL STORN SEWER, ASTM F2881 OR AASHTO M330, ALL CUTS, TO INCLUDE BEDDING AND BACKFILL AND CEMENT STABILIZED SAND BACKFILL UNDER AND WITHIN 1' OF PAVING, FITTINGS AND ALL APPURTENANCES, COMPLETE IN PLACE		1360	\$69.20	\$94,112.00	\$63.00	\$85,680.00	\$63.00	\$85,680.00
3 30" HIGH PERFORMANCE CORRUGATED POLYPROPYLENE DUAL WALL STORN SEWER, ASTM F2881 OR AASHTO M330, ALL CUTS, TO INCLUDE BEDDING AND BACKFILL AND CEMENT STABILIZED SAND BACKFILL UNDER AND WITHIN 1' OF PAVING, FITTINGS AND ALL APPURTENANCES, COMPLETE IN PLACE		67	\$81.00	\$5,427.00	\$84.00	\$5,628.00	\$85.00	\$5,695.00
4 36" HIGH PERFORMANCE CORRUGATED POLYPROPYLENE DUAL WALL STORN SEWER, ASTM F2881 OR AASHTO M330, ALL CUTS, TO INCLUDE BEDDING AND BACKFILL AND CEMENT STABILIZED SAND BACKFILL UNDER AND WITHIN 1' OF PAVING, FITTINGS AND ALL APPURTENANCES, COMPLETE IN PLACE		710	\$98.55	\$69,970.50	\$99.00	\$70,290.00	\$98.00	\$69,580.00
5 42" HIGH PERFORMANCE CORRUGATED POLYPROPYLENE DUAL WALL STORN SEWER, ASTM F2881 OR AASHTO M330, ALL CUTS, TO INCLUDE BEDDING AND BACKFILL AND CEMENT STABILIZED SAND BACKFILL UNDER AND WITHIN 1' OF PAVING, FITTINGS AND ALL APPURTENANCES, COMPLETE IN PLACE		1138	\$124.70	\$141,908.60	\$125.00	\$142,250.00	\$131.00	\$149,078.00
6 48" HIGH PERFORMANCE CORRUGATED POLYPROPYLENE DUAL WALL STORN SEWER, ASTM F2881 OR AASHTO M330, ALL CUTS, TO INCLUDE BEDDING AND BACKFILL AND CEMENT STABILIZED SAND BACKFILL UNDER AND WITHIN 1' OF PAVING, FITTINGS AND ALL APPURTENANCES, COMPLETE IN PLACE		104	\$134.00	\$13,936.00	\$142.00	\$14,768.00	\$158.00	\$16,432.00
7 STAGE I - STANDARD (TYPE "C") INLET, ALL DEPTHS, INCLUDES TEMPORARY SILT BARRIER FENCE FOR STAGE I INLETS, COMPLETE IN PLACE	EA	29	\$1,130.00	\$32,770.00	\$2,000.00	\$58,000.00	\$1,800.00	\$52,200.00
8 STAGE II - STANDARD (TYPE "C") INLET, COMPLETE IN PLACE	EA	29	\$1,645.00	\$47,705.00	\$1,750.00	\$50,750.00	\$1,800.00	\$52,200.00
9 TYPE "C" MANHOLE FOR 42" STORM SEWER AND SMALLER, ALL DEPTHS, COMPLETE IN PLACE	EA	30	\$2,884.00	\$86,520.00	\$3,500.00	\$105,000.00	\$3,487.00	\$104,610.00
10 TYPE "C" MANHOLE FOR 48" STORM SEWER AND LARGER, ALL DEPTHS, COMPLETE IN PLACE	EA	2	\$4,884.00	\$9,768.00	\$7,000.00	\$14,000.00	\$5,062.00	\$10,124.00
11 6:1 SAFETY END TREATMENT FOR 24" CULVERT, COMPLETE IN PLACE	EA	3	\$1,300.00	\$3,900.00	\$2,500.00	\$7,500.00	\$2,193.00	\$6,579.00
12 TRENCH SAFETY SYSTEM, ALL DEPTHS, COMPLETE IN PLACE	LF	4104	\$1.00	\$4,104.00	\$1.05	\$4,309.20	\$1.00	\$4,104.00
13 DEWATERING OF STORM SEWER LINE WORK, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	D LF	1100	\$22.00	\$24,200.00	\$22.00	\$24,200.00	\$22.00	\$24,200.00
14 ADDITIONAL COST FOR STORM SEWER BEDDING AND BACKFILL FOR UNSATISFACTORY SOIL CONDITIONS, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	1100	\$8.00	\$8,800.00	\$8.00	\$8,800.00	\$8.00	\$8,800.00
15 HAUL, PLACE, AND COMPACT STORM SEWER UTILITY SPOIL ON LOTS, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LS	1	\$4,000.00	\$4,000.00	\$7,500.00	\$7,500.00	\$17,775.00	\$17,775.00
SECTION 2 PART A DRAINAGE FACILITIES ITEMS SUBTOTAL:				\$589,896.10		\$632,750.20		\$639,682.00
SECTION 2 PART A MISCELLANEOUS ITEMS								
1 REINFORCED FILTER FABRIC FENCE (SILT BARRIER FENCING), (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	13770	\$1.00	\$13,770.00	\$1.00	\$13,770.00	\$1.00	\$13,770.00

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF WATER, SANITARY SEWER, AND DRAINAGE TO SERVE MAGNOLIA FOREST SECTION 2
MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 218
MONTGOMERY COUNTY, TEXAS
NOVEMBER 20, 2024
LJA ENGINEERING, INC.
S. YOUNG
NOVEMBER 20, 2024

LJA JOB NO.			0.	300-3002D (9.2)					
				1) DIMAS BROS. C	ONSTRUCTION	2) CROSTEX CONS	STRUCTION INC.	3) TEXASI	TE, LLC
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
2 CONSTRUCT AND MAINTAIN STAE COMPLETE IN PLACE	BILIZED CONSTRUCTION EXIT,	EA	1	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00
3 EXTRA CEMENT STABILIZED SAN 4 HYDROMULCH SEEDING AND FIN DIRECTED BY THE ENGINEER), C	E GRADING, (TO BE USED ONLY AS	CY AC	100 1.6	\$20.00 \$1,000.00	\$2,000.00 \$1,600.00	\$30.00 \$1,000.00	\$3,000.00 \$1,600.00	\$20.00 \$1,000.00	\$2,000.00 \$1,600.00
5 STORMWATER POLLUTION PREV COMPLETE IN PLACE	ENTION PLAN COMPLIANCE,	LS	1	\$600.00	\$600.00	\$855.75	\$855.75	\$600.00	\$600.00
6 CONSTRUCT, MAINTAIN, AND REN	MOVE CONCRETE TRUCK WASHOUT, COMPLETE	EA	1	\$500.00	\$500.00	\$1,000.00	\$1,000.00	\$1,687.00	\$1,687.00
7 INLET PROTECTION BARRIER FOI IN PLACE	R STAGE II INLETS (GRAVEL BAGS), COMPLETE	EA	18	\$20.00	\$360.00	\$40.00	\$720.00	\$113.00	\$2,034.00
SECTION 2 PART A MISCELLANEOUS IT	EMS SUBTOTAL:				\$20,330.00		\$22,445.75		\$23,191.00
SECTION 2 PART B WATER ITEMS									
	B, ALL DEPTHS, TO INCLUDE BEDDING, ALL IND RESTRAINED JOINTS WHERE REQUIRED,	LF	1700	\$39.85	\$67,745.00	\$33.75	\$57,375.00	\$36.00	\$61,200.00
	4, ALL DEPTHS, TO INCLUDE BEDDING, ALL ND RESTRAINED JOINTS WHERE REQUIRED,	LF	203	\$69.40	\$14,088.20	\$67.75	\$13,753.25	\$78.00	\$15,834.00
3 PVC CASING FOR 8" WATER LINE CEMENT STABILIZED SAND, COM	AT ALL PAVEMENT CROSSINGS, INCLUDES PLETE IN PLACE	LF	60	\$61.00	\$3,660.00	\$153.00	\$9,180.00	\$46.00	\$2,760.00
	B, ALL DEPTHS, TO INCLUDE BEDDING, ALL ND RESTRAINED JOINTS WHERE REQUIRED,	LF	1364	\$33.40	\$45,557.60	\$25.00	\$34,100.00	\$28.00	\$38,192.00
5 FIRE HYDRANT UNIT, ALL DEPTH AND BOX, 6" LEAD AND FIRE HYD	S, INCLUDES APPROPRIATE TEE, 6" GATE VALVE RANT, COMPLETE IN PLACE	EA	10	\$5,555.00	\$55,550.00	\$5,200.00	\$52,000.00	\$5,583.00	\$55,830.00
	SERVICE, 1" (CTS POLYETHYLENE, SDR-9), NCH SAFETY, METER BOX, CURB STOP, AND ALL TAPS, COMPLETE IN PLACE	EA	22	\$600.00	\$13,200.00	\$735.00	\$16,170.00	\$660.00	\$14,520.00
	ERVICE, 1" (CTS POLYETHYLENE, SDR-9), ER BOX, CURB STOP, TRENCH SAFETY AND ALL TAPS, COMPLETE IN PLACE	EA	41	\$1,497.00	\$61,377.00	\$1,435.00	\$58,835.00	\$1,283.00	\$52,603.00
8 8" AWWA GATE VALVE AND BOX,	COMPLETE IN PLACE	EA	9	\$1,610.00	\$14,490.00	\$1,720.00	\$15,480.00	\$1,963.00	\$17,667.00
9 6" AWWA GATE VALVE AND BOX,	COMPLETE IN PLACE	EA	7	\$1,095.00	\$7,665.00	\$1,050.00	\$7,350.00	\$1,320.00	\$9,240.00
10 8" PLUG AND CLAMP WITH 2" BLC IN PLACE	DW OFF VALVE AND ASSEMBLY BOX, COMPLETE	EA	1	\$1,584.00	\$1,584.00	\$1,725.00	\$1,725.00	\$2,465.00	\$2,465.00
11 6" PLUG AND CLAMP WITH 2" BLC IN PLACE	OW OFF VALVE AND ASSEMBLY BOX, COMPLETE	EA	4	\$1,500.00	\$6,000.00	\$1,725.00	\$6,900.00	\$2,406.00	\$9,624.00
12 TRENCH SAFETY SYSTEM, ALL D	EPTHS, COMPLETE IN PLACE	LF	3064	\$1.00	\$3,064.00	\$1.05	\$3,217.20	\$1.00	\$3,064.00
13 DEWATERING OF WATER LINE W ENGINEER), COMPLETE IN PLACE	ORK (TO BE USED ONLY AS DIRECTED BY THE	LF	800	\$22.00	\$17,600.00	\$22.00	\$17,600.00	\$22.00	\$17,600.00
14 HAUL, PLACE, AND COMPACT WA (AS DIRECTED BY THE ENGINEER		LS	1	\$3,000.00	\$3,000.00	\$2,000.00	\$2,000.00	\$2,812.00	\$2,812.00

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF WATER, SANITARY SEWER, AND DRAINAGE TO SERVE MAGNOLIA FOREST SECTION 2
MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 218
MONTGOMERY COUNTY, TEXAS
NOVEMBER 20, 2024
LJA ENGINEERING, INC.
S. YOUNG
NOVEMBER 20, 2024

		·	1) DIMAS BROS. CO	ONSTRUCTION	2) CROSTEX CONS	TRUCTION INC.	3) TEXASIT	E, LLC
ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
15 EXTRA CAST IRON FITTINGS (AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	TON	1	\$100.00	\$100.00	\$1.00	\$1.00	\$1.00	\$1.00
SECTION 2 PART B WATER ITEMS SUBTOTAL:				\$314,680.80		\$295,686.45		\$303,412.00
SECTION 2 PART B SANITARY SEWER ITEMS								
1 8" PVC SEWER PIPE, STM D-3034, SDR 26, 0'-8' CUT (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	2409	\$47.60	\$114,668.40	\$32.00	\$77,088.00	\$40.00	\$96,360.00
2 8" PVC SEWER PIPE, STM D-3034, SDR 26, 8'-12' CUT (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	607	\$47.65	\$28,923.55	\$36.00	\$21,852.00	\$42.00	\$25,494.00
3 8" PVC SEWER PIPE, STM D-3034, SDR 26, 12'-16' CUT (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	260	\$53.00	\$13,780.00	\$40.00	\$10,400.00	\$43.00	\$11,180.00
4 STANDARD SANITARY SEWER MANHOLE FOR 6"-24" SANITARY SEWER PIPES, (6' DEPTH), COMPLETE IN PLACE	EA	37	\$3,555.00	\$131,535.00	\$3,700.00	\$136,900.00	\$2,868.00	\$106,116.00
5 EXTRA VERTICAL DEPTH OF STANDARD SANITARY SEWER MANHOLE, (OVER 8' DEPTH), COMPLETE IN PLACE	VF	32	\$140.00	\$4,480.00	\$370.00	\$11,840.00	\$185.00	\$5,920.00
6 STANDARD 2' SANITARY SEWER DROP STRUCTURE, COMPLETE IN PLACE	EA	1	\$784.00	\$784.00	\$500.00	\$500.00	\$594.00	\$594.00
7 "LONG SIDE" DOUBLE OR SINGLE 6" PVC PIPE SERVICE LEADS, ASTM D-2241, SDR 26, ALL DEPTHS, INCLUDING CEMENT STABILIZED BACKFILL, TRENCH SAFETY, RISER, WYE, STACKS, PLUG, MARKER AND ANY NECESSARY FITTINGS, ETC., COMPLETE IN PLACE	EA	19	\$3,000.00	\$57,000.00	\$2,550.00	\$48,450.00	\$2,304.00	\$43,776.00
8 "SHORT SIDE" DOUBLE OR SINGLE 6" PVC PIPE SERVICE LEADS, ASTM D-2241, SDR 26, ALL DEPTHS, INCLUDING CEMENT STABILIZED BACKFILL, TRENCH SAFETY, RISER, WYE, STACKS, PLUG, MARKER AND ANY NECESSARY FITTINGS, ETC., COMPLETE IN PLACE	EA	47	\$855.00	\$40,185.00	\$1,125.00	\$52,875.00	\$700.00	\$32,900.00
9 STANDARD 6" SANITARY SEWER STACK, COMPLETE IN PLACE	EA	24	\$315.00	\$7,560.00	\$425.00	\$10,200.00	\$450.00	\$10,800.00
10 8" SANITARY SEWER PLUG, COMPLETE IN PLACE	EA	1	\$184.00	\$184.00	\$50.00	\$50.00	\$443.00	\$443.00
11 REMOVE AND DISPOSE OF EXISTING 8" PLUG AND CONNECT PROPOSED 8" SANITARY SEWER	EA	8	\$184.00	\$1,472.00	\$500.00	\$4,000.00	\$658.00	\$5,264.00
12 TRENCH SAFETY SYSTEM, ALL DEPTHS, COMPLETE IN PLACE	LF	3276	\$1.00	\$3,276.00	\$1.10	\$3,603.60	\$1.00	\$3,276.00
13 DEWATERING OF 8" SANITARY SEWER LINE WORK, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	600	\$22.00	\$13,200.00	\$22.00	\$13,200.00	\$22.00	\$13,200.00
14 ADDITIONAL COST OF SANITARY SEWER BEDDING AND BACKFILL FOR UNSATISFACTORY SOIL CONDITIONS, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	600	\$8.00	\$4,800.00	\$8.00	\$4,800.00	\$8.00	\$4,800.00
15 HAUL, PLACE AND COMPACT SANITARY SEWER UTILITY SPOIL ON DESIGNATED FILL AREAS, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE		1	\$5,200.00	\$5,200.00	\$5,000.00	\$5,000.00	\$6,525.00	\$6,525.00
16 CONTRACTOR SHALL TV AND CLEAN PROPOSED SANITARY SEWER (ALL SIZES), COMPLETE IN PLACE	LF	3276	\$1.00	\$3,276.00	\$3.50	\$11,466.00	\$0.01	\$32.76
SECTION 2 PART B SANITARY SEWER ITEMS SUBTOTAL:				\$430,323.95		\$412,224.60		\$366,680.76
SECTION 2 PART B DRAINAGE FACILITIES ITEMS								
1 18" HIGH PERFORMANCE CORRUGATED POLYPROPYLENE DUAL WALL STORM SEWER, ASTM F2881 OR AASHTO M330, ALL CUTS, TO INCLUDE BEDDING AND BACKFILL AND CEMENT STABILIZED SAND BACKFILL UNDER AND WITHIN 1' OF PAVING, FITTINGS AND ALL APPURTENANCES, COMPLETE IN PLACE	LF	194	\$57.85	\$11,222.90	\$47.00	\$9,118.00	\$45.00	\$8,730.00

0386-5862D (9.2)

 Page 6 of 15
 FRN F-1386

 LJA Engineering, Inc.
 LJA Engineering Inc.

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF WATER, SANITARY SEWER, AND DRAINAGE TO SERVE MAGNOLIA FOREST SECTION 2 MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 218 MONTGOMERY COUNTY, TEXAS NOVEMBER 20, 2024 LJA ENGINEERING, INC. S. YOUNG NOVEMBER 20, 2024

LUA JOB NO.			0300-3002D (9.2)					
			1) DIMAS BROS. C	ONSTRUCTION	2) CROSTEX CONS	STRUCTION INC.	3) TEXASI	ΓE, LLC
ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
2 24" HIGH PERFORMANCE CORRUGATED POLYPROPYLENE DUAL SEWER, ASTM F2881 OR AASHTO M330, ALL CUTS, TO INCLUDE E BACKFILL AND CEMENT STABILIZED SAND BACKFILL UNDER AND PAVING, FITTINGS AND ALL APPURTENANCES, COMPLETE IN PLA	BEDDING AND WITHIN 1' OF	1015	\$71.30	\$72,369.50	\$63.00	\$63,945.00	\$61.00	\$61,915.00
3 30" HIGH PERFORMANCE CORRUGATED POLYPROPYLENE DUAL SEWER, ASTM F2881 OR AASHTO M330, ALL CUTS, TO INCLUDE E BACKFILL AND CEMENT STABILIZED SAND BACKFILL UNDER AND PAVING, FITTINGS AND ALL APPURTENANCES, COMPLETE IN PLA	BEDDING AND WITHIN 1' OF	274	\$81.00	\$22,194.00	\$84.00	\$23,016.00	\$92.00	\$25,208.00
4 STAGE I - STANDARD (TYPE "C") INLET, ALL DEPTHS, INCLUDES SILT	TEMPORARY EA	11	\$1,130.00	\$12,430.00	\$2,000.00	\$22,000.00	\$1,800.00	\$19,800.00
5 STAGE II - STANDARD (TYPE "C") INLET, COMPLETE IN PLACE	EA	11	\$1,645.00	\$18,095.00	\$1,750.00	\$19,250.00	\$1,800.00	\$19,800.00
6 TYPE "C" MANHOLE FOR 42" STORM SEWER AND SMALLER, ALL I COMPLETE IN PLACE	DEPTHS, EA	13	\$3,130.00	\$40,690.00	\$3,500.00	\$45,500.00	\$3,487.00	\$45,331.00
7 REMOVE AND DISPOSE 8" BRICK WALL PLUG AND CONNECT PRO PIPE, ALL SIZES, COMPLETE IN PLACE	DPOSED EA	8	\$184.00	\$1,472.00	\$250.00	\$2,000.00	\$658.00	\$5,264.00
8 TRENCH SAFETY SYSTEM, ALL DEPTHS, COMPLETE IN PLACE	LF	1483	\$1.00	\$1,483.00	\$1.05	\$1,557.15	\$1.00	\$1,483.00
9 EXTREME EVENT OVERFLOW SWALE, COMPLETE IN PLACE	LF	243	\$10.00	\$2,430.00	\$10.00	\$2,430.00	\$22.00	\$5,346.00
10 DEWATERING OF STORM SEWER LINE WORK, (TO BE USED ONL BY THE ENGINEER), COMPLETE IN PLACE	Y AS DIRECTED LF	400	\$22.00	\$8,800.00	\$22.00	\$8,800.00	\$22.00	\$8,800.00
11 ADDITIONAL COST FOR STORM SEWER BEDDING AND BACKFILL UNSATISFACTORY SOIL CONDITIONS, (TO BE USED ONLY AS DIR ENGINEER), COMPLETE IN PLACE		400	\$8.00	\$3,200.00	\$8.00	\$3,200.00	\$8.00	\$3,200.00
12 HAUL, PLACE, AND COMPACT STORM SEWER UTILITY SPOIL ON USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLA		1	\$3,000.00	\$3,000.00	\$5,000.00	\$5,000.00	\$5,962.00	\$5,962.00
SECTION 2 PART B DRAINAGE FACILITIES ITEMS SUBTOTAL:				\$197,386.40		\$205,816.15		\$210,839.00
SECTION 2 PART B MISCELLANEOUS ITEMS								
1 REINFORCED FILTER FABRIC FENCE (SILT BARRIER FENCING), (1 ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	TO BE USED LF	20678	\$1.00	\$20,678.00	\$1.00	\$20,678.00	\$1.00	\$20,678.00
2 CONSTRUCT AND MAINTAIN STABILIZED CONSTRUCTION EXIT, COMPLETE IN PLACE	EA	1	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00
3 EXTRA CEMENT STABILIZED SAND, COMPLETE IN PLACE	CY	100	\$20.00	\$2,000.00	\$30.00	\$3,000.00	\$20.00	\$2,000.00
4 HYDROMULCH SEEDING AND FINE GRADING, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	AC	1.8	\$1,000.00	\$1,800.00	\$1,000.00	\$1,800.00	\$1,000.00	\$1,800.00
5 BROADCAST SEEDING, FERTILIZING AND WATERING (TO BE USE DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	D ONLY AS AC	36	\$600.00	\$21,600.00	\$600.00	\$21,600.00	\$600.00	\$21,600.00
6 STORMWATER POLLUTION PREVENTION PLAN COMPLIANCE, COMPLETE IN PLACE	LS	1	\$526.00	\$526.00	\$1,000.00	\$1,000.00	\$1,350.00	\$1,350.00
7 CONSTRUCT, MAINTAIN, AND REMOVE CONCRETE TRUCK WASH IN PLACE	OUT, COMPLETE EA	1	\$373.70	\$373.70	\$1,000.00	\$1,000.00	\$1,687.00	\$1,687.00
8 PIPELINE CROSSINGS	EA	3	\$1,800.00	\$5,400.00	\$3,500.00	\$10,500.00	\$100.00	\$300.00
9 INLET PROTECTION BARRIER FOR STAGE II INLETS (GRAVEL BACIN PLACE	GS), COMPLETE EA	13	\$10.00	\$130.00	\$50.00	\$650.00	\$11.00	\$143.00
SECTION 2 PART B MISCELLANEOUS ITEMS SUBTOTAL:				\$54,007.70		\$61,728.00		\$51,058.00

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

CONSTRUCTION OF WATER, SANITARY SEWER, AND DRAINAGE TO SERVE MAGNOLIA FOREST SECTION 2 MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 218 MONTGOMERY COUNTY, TEXAS NOVEMBER 20, 2024 LJA ENGINEERING, INC. S. YOUNG NOVEMBER 20, 2024 0386-58620 (9.2)

				1) DIMAS BROS.	1) DIMAS BROS. CONSTRUCTION		2) CROSTEX CONSTRUCTION INC.		SITE, LLC	
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	
BIDDING SUMMARY										
SUBTOTAL SECTION	2 PART A WATER ITEMS				\$422,248.90		\$472,347.25		\$538,488.00	
SUBTOTAL SECTION	2 PART A SANITARY SEWER ITEMS				\$437,126.15		\$427,001.60		\$399,267.51	
SUBTOTAL SECTION	2 PART A DRAINAGE FACILITIES ITEMS				\$589,896.10		\$632,750.20		\$639,682.00	
SUBTOTAL SECTION	2 PART A MISCELLANEOUS ITEMS				\$20,330.00		\$22,445.75		\$23,191.00	
SUBTOTAL SECTION	2 PART B WATER ITEMS				\$314,680.80		\$295,686.45		\$303,412.00	
SUBTOTAL SECTION	2 PART B SANITARY SEWER ITEMS				\$430,323.95		\$412,224.60		\$366,680.76	
SUBTOTAL SECTION	2 PART B DRAINAGE FACILITIES ITEMS				\$197,386.40		\$205,816.15		\$210,839.00	
SUBTOTAL SECTION	2 PART B MISCELLANEOUS ITEMS				\$54,007.70	a b	\$61,728.00		\$51,058.00	
TOTAL AMOUNT BAS	SE BID				\$2,466,000.00		\$2,530,000.00		\$2,532,618.27	

Page 8 of 15 FRN F-1386 LJA Engineering, Inc.

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

CONSTRUCTION OF WATER, SANITARY SEWER, AND DRAINAGE TO SERVE MAGNOLIA FOREST SECTION 2 MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 218
MONTGOMERY COUNTY, TEXAS
NOVEMBER 20, 2024 LJA ENGINEERING, INC. S. YOUNG NOVEMBER 20, 2024

				4) R CONSTRUCTION	ON CIVIL, LLC	5) BLAZEY CONSTRUCT	TION SERVICES LLC	6) KENNETH LAMB CON	STRUCTION CO.,LTD.
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
SECTION 2 PART A WATER ITEMS									
	8.18, ALL DEPTHS, TO INCLUDE BEDDING, ALL AND RETRAINED JOINTS WHERE REQUIRED,	LF	2310	\$70.00	\$161,700.00	\$74.00	\$170,940.00	\$75.00	\$173,250.00
	R 14, ALL DEPTHS, TO INCLUDE BEDDING, ALL AND RESTRAINED JOINTS WHERE REQUIRED,	LF	743	\$128.00	\$95,104.00	\$213.00	\$158,259.00	\$42.00	\$31,206.00
3 PVC CASING FOR 12" WATER LI CEMENT STABILIZED SAND, CO	NE AT ALL PAVEMENT CROSSINGS, INCLUDES MPLETE IN PLACE	LF	289	\$162.00	\$46,818.00	\$136.00	\$39,304.00	\$172.00	\$49,708.00
	18, ALL DEPTHS, TO INCLUDE BEDDING, ALL AND RESTRAINED JOINTS WHERE REQUIRED,	LF	38	\$38.00	\$1,444.00	\$35.00	\$1,330.00	\$43.00	\$1,634.00
	14, ALL DEPTHS, TO INCLUDE BEDDING, ALL AND RESTRAINED JOINTS WHERE REQUIRED,	LF	54	\$137.00	\$7,398.00	\$81.00	\$4,374.00	\$121.00	\$6,534.00
6 PVC CASING FOR 8" WATER LIN CEMENT STABILIZED SAND, CO	E AT ALL PAVEMENT CROSSINGS, INCLUDES MPLETE IN PLACE	LF	37	\$143.00	\$5,291.00	\$68.00	\$2,516.00	\$149.00	\$5,513.00
7 FIRE HYDRANT UNIT, ALL DEPTI AND BOX, 6" LEAD AND FIRE HY	HS, INCLUDES APPROPRIATE TEE, 6" GATE VALVE DRANT, COMPLETE IN PLACE	EA	5	\$5,800.00	\$29,000.00	\$5,830.00	\$29,150.00	\$5,865.00	\$29,325.00
	E SERVICE, 1" (CTS POLYETHYLENE, SDR-9), ENCH SAFETY, METER BOX, CURB STOP, AND ALL D TAPS, COMPLETE IN PLACE	EA	15	\$880.00	\$13,200.00	\$945.00	\$14,175.00	\$843.00	\$12,645.00
	SERVICE, 1" (CTS POLYETHYLENE, SDR-9), TER BOX, CURB STOP, TRENCH SAFETY AND ALL D TAPS, COMPLETE IN PLACE	EA	23	\$1,650.00	\$37,950.00	\$1,174.00	\$27,002.00	\$2,109.00	\$48,507.00
10 12" AWWA GATE VALVE AND BO	DX, COMPLETE IN PLACE	EA	16	\$3,550.00	\$56,800.00	\$3,616.00	\$57,856.00	\$3,373.00	\$53,968.00
11 8" AWWA GATE VALVE AND BOX	X, COMPLETE IN PLACE	EA	1	\$2,000.00	\$2,000.00	\$1,918.00	\$1,918.00	\$1,873.00	\$1,873.00
12 REMOVE EXISTING 12" PLUG AN AND CONNECT PROPOSED WA	ID CLAMP AND 2" BLOW OFF, VALVE, TER LINE, COMPLETE IN PLACE	EA	1	\$675.00	\$675.00	\$1,298.00	\$1,298.00	\$1,603.00	\$1,603.00
	G FOR 12" WATER LINE, (EXCLUDES CARRIER PACERS AND END SEALS, ALL DEPTHS,	LF	52	\$604.00	\$31,408.00	\$370.00	\$19,240.00	\$189.00	\$9,828.00
14 12" X 6" TAPPING SLEEVE & VAL	VE, COMPLETE IN PLACE	EA	1	\$4,500.00	\$4,500.00	\$5,620.00	\$5,620.00	\$5,351.00	\$5,351.00
15 TRENCH SAFETY SYSTEM, ALL	DEPTHS, COMPLETE IN PLACE	LF	3145	\$1.00	\$3,145.00	\$0.30	\$943.50	\$2.00	\$6,290.00
16 DEWATERING OF WATER LINE VIDENCE DIRECTED BY THE ENGINEER),		LF	800	\$22.00	\$17,600.00	\$27.00	\$21,600.00	\$22.00	\$17,600.00
17 HAUL, PLACE, AND COMPACT W ON LOTS ( AS DIRECTED BY THE	VATER LINE UTILITY SPOIL, E ENGINEER), COMPLETE IN PLACE	LS	1	\$1,050.00	\$1,050.00	\$1,462.00	\$1,462.00	\$1,800.00	\$1,800.00
18 EXTRA CAST IRON FITTINGS (AS COMPLETE IN PLACE	S DIRECTED BY THE ENGINEER),	TON	1	\$1.00	\$1.00	\$3,711.00	\$3,711.00	\$100.00	\$100.00
SECTION 2 PART A WATER ITEMS SUE					\$515,084.00		\$560,698.50		\$456,735.00
SECTION 2 PART A SANITARY SEWER									
1 8" PVC SEWER PIPE, STM D-303 DIRECTED BY THE ENGINEER),	4, SDR 26, 0'-8' CUT (TO BE USED ONLY AS COMPLETE IN PLACE	LF	895	\$37.00	\$33,115.00	\$44.00	\$39,380.00	\$40.00	\$35,800.00

0386-5862D (9.2)

FRN F-1386 Page 9 of 15

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF WATER, SANITARY SEWER, AND DRAINAGE TO SERVE MAGNOLIA FOREST SECTION 2 MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 218 MONTGOMERY COUNTY, TEXAS NOVEMBER 20, 2024 LJA ENGINEERING, INC. S. YOUNG NOVEMBER 20, 2024 0386-5862D (9.2)

20/1002 1101			000						
				4) R CONSTRUCTION		5) BLAZEY CONSTRUCT		6) KENNETH LAMB CON	
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
	VER PIPE, STM D-3034, SDR 26, 8'-12' CUT (TO BE USED ONLY AS BY THE ENGINEER), COMPLETE IN PLACE	LF	290	\$36.00	\$10,440.00	\$47.00	\$13,630.00	\$45.00	\$13,050.00
	VER PIPE, STM D-3034, SDR 26, 12'-16' CUT (TO BE USED ONLY AS BY THE ENGINEER), COMPLETE IN PLACE	LF	1351	\$40.00	\$54,040.00	\$55.00	\$74,305.00	\$50.00	\$67,550.00
	VER PIPE, STM D-3034, SDR 26, 16'-20' CUT (TO BE USED ONLY AS BY THE ENGINEER), COMPLETE IN PLACE	LF	515	\$53.00	\$27,295.00	\$74.00	\$38,110.00	\$55.00	\$28,325.00
	ND OFFSITE DISPOSAL OF EXISTING 6" PLUG AND CLAMP AND PROPOSED 6" FORCE MAIN, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$800.00	\$800.00	\$1,221.00	\$1,221.00	\$150.00	\$150.00
	RCE MAIN, C-900, DR 18, CLASS 235, INCLUDES FITTINGS, ND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	2584	\$26.00	\$67,184.00	\$27.00	\$69,768.00	\$33.00	\$85,272.00
	R AND STEEL CASING FOR 8" SANITARY SEWER, (EXCLUDES CARRIER UDES RESTRAINED JOINT PIPE AND BORE PITS, ALL DEPTHS, IN PLACE	LF	52	\$540.00	\$28,080.00	\$355.00	\$18,460.00	\$205.00	\$10,660.00
	R AND STEEL CASING FOR 6" PVC FORCE MAIN, (EXCLUDES CARRIER UDES RESTRAINED JOINT PIPE AND BORE PITS, ALL DEPTHS, IN PLACE	LF	52	\$440.00	\$22,880.00	\$336.00	\$17,472.00	\$167.00	\$8,684.00
	SANITARY SEWER MANHOLE FOR 6"-24" SANITARY SEWER PIPES, (8' DMPLETE IN PLACE	EA	16	\$3,700.00	\$59,200.00	\$3,181.00	\$50,896.00	\$3,531.00	\$56,496.00
	RTICAL DEPTH OF STANDARD SANITARY SEWER MANHOLE, EPTH), COMPLETE IN PLACE	VF	95	\$190.00	\$18,050.00	\$178.00	\$16,910.00	\$270.00	\$25,650.00
11 STANDARD	2' SANITARY SEWER DROP STRUCTURE, COMPLETE IN PLACE	EA	6	\$430.00	\$2,580.00	\$760.00	\$4,560.00	\$1,236.00	\$7,416.00
SDR 26, AL SAFETY, RI	E" DOUBLE OR SINGLE 6" PVC PIPE SERVICE LEADS, ASTM D-2241, L DEPTHS, INCLUDING CEMENT STABILIZED BACKFILL, TRENCH SER, WYE, STACKS, PLUG, MARKER AND ANY NECESSARY FITTINGS, PLETE IN PLACE	EA	10	\$2,500.00	\$25,000.00	\$2,465.00	\$24,650.00	\$2,404.00	\$24,040.00
D-2241, SD TRENCH SA	DE" DOUBLE OR SINGLE 6" PVC PIPE SERVICE LEADS, ASTM R 26, ALL DEPTHS, INCLUDING CEMENT STABILIZED BACKFILL, AFETY, RISER, WYE, STACKS, .PLUG, MARKER AND ANY NECESSARY ETC., COMPLETE IN PLACE	EA	26	\$1,175.00	\$30,550.00	\$953.00	\$24,778.00	\$1,076.00	\$27,976.00
14 STANDARD	6" SANITARY SEWER STACK, COMPLETE IN PLACE	EA	25	\$750.00	\$18,750.00	\$559.00	\$13,975.00	\$647.00	\$16,175.00
15 8" SANITAR	Y SEWER PLUG, COMPLETE IN PLACE	EA	7	\$50.00	\$350.00	\$123.00	\$861.00	\$171.00	\$1,197.00
	ND DISPOSE OF EXISTING 8" PLUG AND CONNECT ) 8" SANITARY SEWER	EA	2	\$145.00	\$290.00	\$779.00	\$1,558.00	\$150.00	\$300.00
17 TRENCH SA	AFETY SYSTEM, ALL DEPTHS, COMPLETE IN PLACE	LF	3051	\$1.00	\$3,051.00	\$0.30	\$915.30	\$2.00	\$6,102.00
	NG OF 8" SANITARY SEWER LINE WORK, (TO BE USED ONLY AS BY THE ENGINEER), COMPLETE IN PLACE	LF	1200	\$22.00	\$26,400.00	\$27.00	\$32,400.00	\$22.00	\$26,400.00
UNSATISFA	L COST OF SANITARY SEWER BEDDING AND BACKFILL FOR CTORY SOIL CONDITIONS, (TO BE USED ONLY AS DIRECTED BY THE ), COMPLETE IN PLACE	LF	1200	\$8.00	\$9,600.00	\$15.00	\$18,000.00	\$8.00	\$9,600.00
	CE AND COMPACT SANITARY SEWER UTILITY SPOIL ON DESIGNATED S, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN	LS	1	\$1,800.00	\$1,800.00	\$1,783.00	\$1,783.00	\$2,700.00	\$2,700.00
21 CONTRACT COMPLETE	OR SHALL TV AND CLEAN PROPOSED SANITARY SEWER (ALL SIZES) , IN PLACE	LF	3051	\$2.20	\$6,712.20	\$3.30	\$10,068.30	\$3.00	\$9,153.00

 
 Page 10 of 15
 FRN F-1386 LJA Engineering, Inc.

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

CONSTRUCTION OF WATER, SANITARY SEWER, AND DRAINAGE TO SERVE MAGNOLIA FOREST SECTION 2 MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 218 MONTGOMERY COUNTY, TEXAS NOVEMBER 20, 2024 LJA ENGINEERING, INC. S. YOUNG NOVEMBER 20, 2024

		00	00 00025 (0.2)					
			4) R CONSTRUCT	ION CIVIL, LLC	5) BLAZEY CONSTRUCT	TION SERVICES LLC	6) KENNETH LAMB CON	STRUCTION CO.,LTD.
ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
SECTION 2 PART A SANITARY SEWER ITEMS SUBTOTAL:				\$446,167.20		\$473,700.60		\$462,696.00
SECTION 2 PART A DRAINAGE FACILITIES ITEMS								
1 18" HIGH PERFORMANCE CORRUGATED POLYPROPYLENE DUAL WALL STOR SEWER, ASTM F2881 OR AASHTO M330, ALL CUTS, TO INCLUDE BEDDING AN BACKFILL AND CEMENT STABILIZED SAND BACKFILL UNDER AND WITHIN 1' O PAVING, FITTINGS AND ALL APPURTENANCES, COMPLETE IN PLACE	D	725	\$47.00	\$34,075.00	\$48.00	\$34,800.00	\$48.00	\$34,800.00
2 24" HIGH PERFORMANCE CORRUGATED POLYPROPYLENE DUAL WALL STOR SEWER, ASTM F2881 OR AASHTO M330, ALL CUTS, TO INCLUDE BEDDING ANI BACKFILL AND CEMENT STABILIZED SAND BACKFILL UNDER AND WITHIN 1' O PAVING, FITTINGS AND ALL APPURTENANCES, COMPLETE IN PLACE	D	1360	\$65.00	\$88,400.00	\$63.00	\$85,680.00	\$70.00	\$95,200.00
3 30" HIGH PERFORMANCE CORRUGATED POLYPROPYLENE DUAL WALL STOR SEWER, ASTM F2881 OR AASHTO M330, ALL CUTS, TO INCLUDE BEDDING ANI BACKFILL AND CEMENT STABILIZED SAND BACKFILL UNDER AND WITHIN 1' O PAVING, FITTINGS AND ALL APPURTENANCES, COMPLETE IN PLACE	D	67	\$99.00	\$6,633.00	\$81.00	\$5,427.00	\$90.00	\$6,030.00
4 36" HIGH PERFORMANCE CORRUGATED POLYPROPYLENE DUAL WALL STOR SEWER, ASTM F2881 OR AASHTO M330, ALL CUTS, TO INCLUDE BEDDING AN BACKFILL AND CEMENT STABILIZED SAND BACKFILL UNDER AND WITHIN 1' O PAVING, FITTINGS AND ALL APPURTENANCES, COMPLETE IN PLACE	D	710	\$114.00	\$80,940.00	\$98.00	\$69,580.00	\$118.00	\$83,780.00
5 42" HIGH PERFORMANCE CORRUGATED POLYPROPYLENE DUAL WALL STOR SEWER, ASTM F2881 OR AASHTO M330, ALL CUTS, TO INCLUDE BEDDING ANI BACKFILL AND CEMENT STABILIZED SAND BACKFILL UNDER AND WITHIN 1' O PAVING, FITTINGS AND ALL APPURTENANCES, COMPLETE IN PLACE	D	1138	\$145.00	\$165,010.00	\$132.00	\$150,216.00	\$148.00	\$168,424.00
6 48" HIGH PERFORMANCE CORRUGATED POLYPROPYLENE DUAL WALL STOR SEWER, ASTM F2881 OR AASHTO M330, ALL CUTS, TO INCLUDE BEDDING ANI BACKFILL AND CEMENT STABILIZED SAND BACKFILL UNDER AND WITHIN 1' O PAVING, FITTINGS AND ALL APPURTENANCES, COMPLETE IN PLACE	D	104	\$149.00	\$15,496.00	\$150.00	\$15,600.00	\$161.00	\$16,744.00
7 STAGE I - STANDARD (TYPE "C") INLET, ALL DEPTHS, INCLUDES TEMPORARY SILT BARRIER FENCE FOR STAGE I INLETS, COMPLETE IN PLACE	/ EA	29	\$1,300.00	\$37,700.00	\$1,678.00	\$48,662.00	\$1,451.00	\$42,079.00
8 STAGE II - STANDARD (TYPE "C") INLET, COMPLETE IN PLACE	EA	29	\$2,600.00	\$75,400.00	\$1,607.00	\$46,603.00	\$2,511.00	\$72,819.00
9 TYPE "C" MANHOLE FOR 42" STORM SEWER AND SMALLER, ALL DEPTHS, COMPLETE IN PLACE	EA	30	\$3,700.00	\$111,000.00	\$3,976.00	\$119,280.00	\$4,001.00	\$120,030.00
10 TYPE "C" MANHOLE FOR 48" STORM SEWER AND LARGER, ALL DEPTHS, COMPLETE IN PLACE	EA	2	\$6,000.00	\$12,000.00	\$5,967.00	\$11,934.00	\$4,926.00	\$9,852.00
11 6:1 SAFETY END TREATMENT FOR 24" CULVERT, COMPLETE IN PLACE	EA	3	\$1,600.00	\$4,800.00	\$1,588.00	\$4,764.00	\$1,751.00	\$5,253.00
12 TRENCH SAFETY SYSTEM, ALL DEPTHS, COMPLETE IN PLACE	LF	4104	\$1.00	\$4,104.00	\$0.30	\$1,231.20	\$3.00	\$12,312.00
13 DEWATERING OF STORM SEWER LINE WORK, (TO BE USED ONLY AS DIRECT BY THE ENGINEER), COMPLETE IN PLACE	TED LF	1100	\$22.00	\$24,200.00	\$27.00	\$29,700.00	\$22.00	\$24,200.00
14 ADDITIONAL COST FOR STORM SEWER BEDDING AND BACKFILL FOR UNSATISFACTORY SOIL CONDITIONS, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	1100	\$8.00	\$8,800.00	\$15.00	\$16,500.00	\$8.00	\$8,800.00
15 HAUL, PLACE, AND COMPACT STORM SEWER UTILITY SPOIL ON LOTS, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	E LS	1	\$4,800.00	\$4,800.00	\$4,101.00	\$4,101.00	\$4,200.00	\$4,200.00
SECTION 2 PART A DRAINAGE FACILITIES ITEMS SUBTOTAL:				\$673,358.00		\$644,078.20		\$704,523.00
SECTION 2 PART A MISCELLANEOUS ITEMS								
1 REINFORCED FILTER FABRIC FENCE (SILT BARRIER FENCING), (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	13770	\$1.00	\$13,770.00	\$2.15	\$29,605.50	\$1.00	\$13,770.00

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

CONSTRUCTION OF WATER, SANITARY SEWER, AND DRAINAGE TO SERVE MAGNOLIA FOREST SECTION 2 MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 218 MONTGOMERY COUNTY, TEXAS NOVEMBER 20, 2024 LJA ENGINEERING, INC. S. YOUNG NOVEMBER 20, 2024

ESA SOB NO.			030	0-3002D (3.2)					
				4) R CONSTRUCTI	ION CIVIL, LLC	5) BLAZEY CONSTRUC	TION SERVICES LLC	6) KENNETH LAMB CON	STRUCTION CO.,LTD.
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
2 CONSTRUCT AND MAINTAIN ST. COMPLETE IN PLACE	ABILIZED CONSTRUCTION EXIT,	EA	1	\$1,500.00	\$1,500.00	\$1,800.00	\$1,800.00	\$1,500.00	\$1,500.00
3 EXTRA CEMENT STABILIZED SA 4 HYDROMULCH SEEDING AND FI DIRECTED BY THE ENGINEER),	INE GRADING, (TO BE USED ONLY AS	CY AC	100 1.6	\$20.00 \$1,000.00	\$2,000.00 \$1,600.00	\$30.00 \$1,700.00	\$3,000.00 \$2,720.00	\$20.00 \$1,000.00	\$2,000.00 \$1,600.00
5 STORMWATER POLLUTION PRE COMPLETE IN PLACE	EVENTION PLAN COMPLIANCE,	LS	1	\$600.00	\$600.00	\$1,375.00	\$1,375.00	\$600.00	\$600.00
6 CONSTRUCT, MAINTAIN, AND R IN PLACE	EMOVE CONCRETE TRUCK WASHOUT, COMPLETE	EA	1	\$500.00	\$500.00	\$585.00	\$585.00	\$150.00	\$150.00
7 INLET PROTECTION BARRIER F IN PLACE	OR STAGE II INLETS (GRAVEL BAGS), COMPLETE	EA	18	\$50.00	\$900.00	\$61.00	\$1,098.00	\$50.00	\$900.00
SECTION 2 PART A MISCELLANEOUS	ITEMS SUBTOTAL:				\$20,870.00		\$40,183.50		\$20,520.00
SECTION 2 PART B WATER ITEMS									
	18, ALL DEPTHS, TO INCLUDE BEDDING, ALL AND RESTRAINED JOINTS WHERE REQUIRED,	LF	1700	\$37.00	\$62,900.00	\$38.00	\$64,600.00	\$51.00	\$86,700.00
	14, ALL DEPTHS, TO INCLUDE BEDDING, ALL AND RESTRAINED JOINTS WHERE REQUIRED,	LF	203	\$77.00	\$15,631.00	\$80.00	\$16,240.00	\$86.00	\$17,458.00
3 PVC CASING FOR 8" WATER LIN CEMENT STABILIZED SAND, CO	IE AT ALL PAVEMENT CROSSINGS, INCLUDES MPLETE IN PLACE	LF	60	\$144.00	\$8,640.00	\$66.00	\$3,960.00	\$157.00	\$9,420.00
	18, ALL DEPTHS, TO INCLUDE BEDDING, ALL AND RESTRAINED JOINTS WHERE REQUIRED,	LF	1364	\$26.00	\$35,464.00	\$29.00	\$39,556.00	\$39.00	\$53,196.00
5 FIRE HYDRANT UNIT, ALL DEPT AND BOX, 6" LEAD AND FIRE HY	HS, INCLUDES APPROPRIATE TEE, 6" GATE VALVE (DRANT, COMPLETE IN PLACE	EA	10	\$5,500.00	\$55,000.00	\$5,887.00	\$58,870.00	\$5,600.00	\$56,000.00
	E SERVICE, 1" (CTS POLYETHYLENE, SDR-9), ENCH SAFETY, METER BOX, CURB STOP, AND ALL D TAPS, COMPLETE IN PLACE	EA	22	\$850.00	\$18,700.00	\$726.00	\$15,972.00	\$806.00	\$17,732.00
	SERVICE, 1" (CTS POLYETHYLENE, SDR-9), ITER BOX, CURB STOP, TRENCH SAFETY AND ALL D TAPS, COMPLETE IN PLACE	EA	41	\$1,700.00	\$69,700.00	\$976.00	\$40,016.00	\$1,773.00	\$72,693.00
8 8" AWWA GATE VALVE AND BO	X, COMPLETE IN PLACE	EA	9	\$1,900.00	\$17,100.00	\$1,918.00	\$17,262.00	\$1,779.00	\$16,011.00
9 6" AWWA GATE VALVE AND BO	X, COMPLETE IN PLACE	EA	7	\$1,300.00	\$9,100.00	\$1,282.00	\$8,974.00	\$1,182.00	\$8,274.00
10 8" PLUG AND CLAMP WITH 2" BI IN PLACE	OW OFF VALVE AND ASSEMBLY BOX, COMPLETE	EA	1	\$1,800.00	\$1,800.00	\$2,542.00	\$2,542.00	\$2,325.00	\$2,325.00
11 6" PLUG AND CLAMP WITH 2" BI IN PLACE	OW OFF VALVE AND ASSEMBLY BOX, COMPLETE	EA	4	\$1,800.00	\$7,200.00	\$2,484.00	\$9,936.00	\$2,132.00	\$8,528.00
12 TRENCH SAFETY SYSTEM, ALL	DEPTHS, COMPLETE IN PLACE	LF	3064	\$1.00	\$3,064.00	\$0.30	\$919.20	\$2.00	\$6,128.00
13 DEWATERING OF WATER LINE ENGINEER), COMPLETE IN PLACE	WORK (TO BE USED ONLY AS DIRECTED BY THE CE	LF	800	\$22.00	\$17,600.00	\$27.00	\$21,600.00	\$22.00	\$17,600.00
14 HAUL, PLACE, AND COMPACT V (AS DIRECTED BY THE ENGINEE	VATER LINE UTILITY SPOIL, ON LOTS ER), COMPLETE IN PLACE	LS	1	\$900.00	\$900.00	\$1,462.00	\$1,462.00	\$2,100.00	\$2,100.00

0386-5862D (9.2)

Page 12 of 15 LJA Engineering, Inc.

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

CONSTRUCTION OF WATER, SANITARY SEWER, AND DRAINAGE TO SERVE MAGNOLIA FOREST SECTION 2 MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 218 MONTGOMERY COUNTY, TEXAS NOVEMBER 20, 2024 LJA ENGINEERING, INC. S. YOUNG NOVEMBER 20, 2024

				4) R CONSTRUCT	ION CIVIL, LLC	5) BLAZEY CONSTRUCTION SERVICES LLC		6) KENNETH LAMB CONSTRUCTION CO.,LT	
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
15 EXTRA CAST IRON FITTIN PLACE	NGS (AS DIRECTED BY THE ENGINEER), COMPLETE IN	TON	1	\$1.00	\$1.00	\$3,711.00	\$3,711.00	\$100.00	\$100.00
SECTION 2 PART B WATER ITE	MS SUBTOTAL:				\$322,800.00		\$305,620.20		\$374,265.00
SECTION 2 PART B SANITARY	SEWER ITEMS								
	M D-3034, SDR 26, 0'-8' CUT (TO BE USED ONLY AS NEER), COMPLETE IN PLACE	LF	2409	\$38.00	\$91,542.00	\$44.00	\$105,996.00	\$42.00	\$101,178.00
	M D-3034, SDR 26, 8'-12' CUT (TO BE USED ONLY AS NEER), COMPLETE IN PLACE	LF	607	\$36.00	\$21,852.00	\$47.00	\$28,529.00	\$47.00	\$28,529.00
	M D-3034, SDR 26, 12'-16' CUT (TO BE USED ONLY AS NEER), COMPLETE IN PLACE	LF	260	\$39.00	\$10,140.00	\$55.00	\$14,300.00	\$52.00	\$13,520.00
4 STANDARD SANITARY SE DEPTH), COMPLETE IN P	EWER MANHOLE FOR 6"-24" SANITARY SEWER PIPES, (8' LACE	EA	37	\$2,600.00	\$96,200.00	\$3,143.00	\$116,291.00	\$3,451.00	\$127,687.00
5 EXTRA VERTICAL DEPTH DEPTH), COMPLETE IN P	OF STANDARD SANITARY SEWER MANHOLE, (OVER 8' LACE	VF	32	\$190.00	\$6,080.00	\$178.00	\$5,696.00	\$270.00	\$8,640.00
6 STANDARD 2' SANITARY	SEWER DROP STRUCTURE, COMPLETE IN PLACE	EA	1	\$430.00	\$430.00	\$760.00	\$760.00	\$836.00	\$836.00
SDR 26, ALL DEPTHS, INC	R SINGLE 6" PVC PIPE SERVICE LEADS, ASTM D-2241, CLUDING CEMENT STABILIZED BACKFILL, TRENCH "ACKS, PLUG, MARKER AND ANY NECESSARY FITTINGS, CE	EA	19	\$2,300.00	\$43,700.00	\$2,515.00	\$47,785.00	\$2,330.00	\$44,270.00
SDR 26, ALL DEPTHS, INC	OR SINGLE 6" PVC PIPE SERVICE LEADS, ASTM D-2241, CLUDING CEMENT STABILIZED BACKFILL, TRENCH 'ACKS, PLUG, MARKER AND ANY NECESSARY FITTINGS, DE	EA	47	\$1,200.00	\$56,400.00	\$959.00	\$45,073.00	\$1,076.00	\$50,572.00
9 STANDARD 6" SANITARY	SEWER STACK, COMPLETE IN PLACE	EA	24	\$750.00	\$18,000.00	\$559.00	\$13,416.00	\$647.00	\$15,528.00
10 8" SANITARY SEWER PLU	JG, COMPLETE IN PLACE	EA	1	\$50.00	\$50.00	\$123.00	\$123.00	\$170.00	\$170.00
11 REMOVE AND DISPOSE ( 8" SANITARY SEWER	OF EXISTING 8" PLUG AND CONNECT PROPOSED	EA	8	\$145.00	\$1,160.00	\$779.00	\$6,232.00	\$200.00	\$1,600.00
12 TRENCH SAFETY SYSTEM	M, ALL DEPTHS, COMPLETE IN PLACE	LF	3276	\$1.00	\$3,276.00	\$0.30	\$982.80	\$2.00	\$6,552.00
	ITARY SEWER LINE WORK, (TO BE USED ONLY AS NEER), COMPLETE IN PLACE	LF	600	\$22.00	\$13,200.00	\$27.00	\$16,200.00	\$22.00	\$13,200.00
	ANITARY SEWER BEDDING AND BACKFILL FOR CONDITIONS, (TO BE USED ONLY AS DIRECTED BY THE N PLACE	LF	600	\$8.00	\$4,800.00	\$15.00	\$9,000.00	\$8.00	\$4,800.00
	ACT SANITARY SEWER UTILITY SPOIL ON DESIGNATED DONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN	LS	1	\$1,150.00	\$1,150.00	\$1,783.00	\$1,783.00	\$2,700.00	\$2,700.00
16 CONTRACTOR SHALL TV (ALL SIZES), COMPLETE	AND CLEAN PROPOSED SANITARY SEWER IN PLACE	LF	3276	\$2.20	\$7,207.20	\$3.30	\$10,810.80	\$3.00	\$9,828.00
SECTION 2 PART B SANITARY SEWER ITEMS SUBTOTAL:					\$375,187.20		\$422,977.60		\$429,610.00
SECTION 2 PART B DRAINAGE	FACILITIES ITEMS								
SEWER, ASTM F2881 OR BACKFILL AND CEMENT S	CORRUGATED POLYPROPYLENE DUAL WALL STORM AASHTO M330, ALL CUTS, TO INCLUDE BEDDING AND STABILIZED SAND BACKFILL UNDER AND WITHIN 1' OF ILL APPURTENANCES, COMPLETE IN PLACE	LF	194	\$50.00	\$9,700.00	\$48.00	\$9,312.00	\$65.00	\$12,610.00

0386-5862D (9.2)

 
 Page 13 of 15
 FRN F-1386 LJA Engineering, Inc.

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF WATER, SANITARY SEWER, AND DRAINAGE TO SERVE MAGNOLIA FOREST SECTION 2 MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 218 MONTGOMERY COUNTY, TEXAS NOVEMBER 20, 2024 LJA ENGINEERING, INC. S. YOUNG NOVEMBER 20, 2024

5) BLAZEY CONSTRUCTION SERVICES LLC 6) KENNETH LAMB CONSTRUCTION CO.,LTD.

4) R CONSTRUCTION CIVIL, LLC

				4) R CONSTRUCTION CIVIL, LLC		5) BLAZEY CONSTRUCTION SERVICES LLC		6) KENNETH LAMB CONSTRUCTION CO.,LTD.	
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
SEWER, ASTI BACKFILL AN	FORMANCE CORRUGATED POLYPROPYLENE DUAL WALL STORM M F2881 OR AASHTO M330, ALL CUTS, TO INCLUDE BEDDING AND D CEMENT STABILIZED SAND BACKFILL UNDER AND WITHIN 1' OF INGS AND ALL APPURTENANCES, COMPLETE IN PLACE	LF	1015	\$68.00	\$69,020.00	\$63.00	\$63,945.00	\$70.00	\$71,050.00
SEWER, ASTI BACKFILL AN	FORMANCE CORRUGATED POLYPROPYLENE DUAL WALL STORM M F2881 OR AASHTO M330, ALL CUTS, TO INCLUDE BEDDING AND D CEMENT STABILIZED SAND BACKFILL UNDER AND WITHIN 1' OF INGS AND ALL APPURTENANCES, COMPLETE IN PLACE	LF	274	\$92.00	\$25,208.00	\$81.00	\$22,194.00	\$97.00	\$26,578.00
4 STAGE I-ST SILT	ANDARD (TYPE "C") INLET, ALL DEPTHS, INCLUDES TEMPORARY	EA	11	\$1,250.00	\$13,750.00	\$1,611.00	\$17,721.00	\$1,451.00	\$15,961.00
	ANDARD (TYPE "C") INLET, COMPLETE IN PLACE	EA	11	\$2,650.00	\$29,150.00	\$1,607.00	\$17,677.00	\$2,511.00	\$27,621.00
6 TYPE "C" MAN COMPLETE IN	NHOLE FOR 42" STORM SEWER AND SMALLER, ALL DEPTHS, N PLACE	EA	13	\$3,300.00	\$42,900.00	\$3,608.00	\$46,904.00	\$4,745.00	\$61,685.00
	DISPOSE 8" BRICK WALL PLUG AND CONNECT PROPOSED ES, COMPLETE IN PLACE	EA	8	\$650.00	\$5,200.00	\$306.00	\$2,448.00	\$300.00	\$2,400.00
8 TRENCH SAF	ETY SYSTEM, ALL DEPTHS, COMPLETE IN PLACE	LF	1483	\$1.00	\$1,483.00	\$0.30	\$444.90	\$3.00	\$4,449.00
9 EXTREME EV	ENT OVERFLOW SWALE, COMPLETE IN PLACE	LF	243	\$5.00	\$1,215.00	\$2.80	\$680.40	\$10.00	\$2,430.00
	G OF STORM SEWER LINE WORK, (TO BE USED ONLY AS DIRECTED NEER), COMPLETE IN PLACE	LF	400	\$22.00	\$8,800.00	\$27.00	\$10,800.00	\$252.00	\$100,800.00
UNSATISFAC	COST FOR STORM SEWER BEDDING AND BACKFILL FOR TORY SOIL CONDITIONS, (TO BE USED ONLY AS DIRECTED BY THE COMPLETE IN PLACE	LF	400	\$8.00	\$3,200.00	\$15.00	\$6,000.00	\$8.00	\$3,200.00
	, AND COMPACT STORM SEWER UTILITY SPOIL ON LOTS, (TO BE AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LS	1	\$1,300.00	\$1,300.00	\$4,101.00	\$4,101.00	\$1,500.00	\$1,500.00
SECTION 2 PART B DRAINAGE FACILITIES ITEMS SUBTOTAL:					\$210,926.00		\$202,227.30		\$330,284.00
SECTION 2 PART B	MISCELLANEOUS ITEMS								
	FILTER FABRIC FENCE (SILT BARRIER FENCING), (TO BE USED ECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	20678	\$1.00	\$20,678.00	\$2.15	\$44,457.70	\$1.00	\$20,678.00
2 CONSTRUCT COMPLETE IN	AND MAINTAIN STABILIZED CONSTRUCTION EXIT, NPLACE	EA	1	\$1,500.00	\$1,500.00	\$1,800.00	\$1,800.00	\$1,500.00	\$1,500.00
3 EXTRA CEME	NT STABILIZED SAND, COMPLETE IN PLACE	CY	100	\$20.00	\$2,000.00	\$30.00	\$3,000.00	\$20.00	\$2,000.00
	H SEEDING AND FINE GRADING, (TO BE USED ONLY D BY THE ENGINEER), COMPLETE IN PLACE	AC	1.8	\$1,000.00	\$1,800.00	\$1,700.00	\$3,060.00	\$1,000.00	\$1,800.00
	SEEDING, FERTILIZING AND WATERING (TO BE USED ONLY AS 7 THE ENGINEER), COMPLETE IN PLACE	AC	36	\$600.00	\$21,600.00	\$800.00	\$28,800.00	\$600.00	\$21,600.00
6 STORMWATE COMPLETE IN	R POLLUTION PREVENTION PLAN COMPLIANCE, N PLACE	LS	1	\$1,400.00	\$1,400.00	\$1,532.00	\$1,532.00	\$2,000.00	\$2,000.00
7 CONSTRUCT IN PLACE	MAINTAIN, AND REMOVE CONCRETE TRUCK WASHOUT, COMPLETE	EA	1	\$500.00	\$500.00	\$585.00	\$585.00	\$150.00	\$150.00
8 PIPELINE CR	OSSINGS	EA	3	\$10,000.00	\$30,000.00	\$7,243.00	\$21,729.00	\$1,500.00	\$4,500.00
9 INLET PROTE IN PLACE	CTION BARRIER FOR STAGE II INLETS (GRAVEL BAGS), COMPLETE	EA	13	\$50.00	\$650.00	\$61.00	\$793.00	\$50.00	\$650.00
SECTION 2 PART B	MISCELLANEOUS ITEMS SUBTOTAL:				\$80,128.00		\$105,756.70		\$54,878.00

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

CONSTRUCTION OF WATER, SANITARY SEWER, AND DRAINAGE
TO SERVE MAGNOLIA FOREST SECTION 2
MONTGOMERY COUNTY WINCIPAL UTILITY DISTRICT NO. 218
MONTGOMERY COUNTY, TEXAS
NOVEMBER 20, 2024
LJA ENGINEERING, INC.
S. YOUNG
NOVEMBER 20, 2024
0386-58620 (9.2)

				,	. ,				
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
BIDDING SUMMARY									
SUBTOTAL SECTION 2 PART A WATER	ITEMS				\$515,084.00		\$560,698.50		\$456,735.00
SUBTOTAL SECTION 2 PART A SANITAR	RY SEWER ITEMS				\$446,167.20		\$473,700.60		\$462,696.00
SUBTOTAL SECTION 2 PART A DRAINAG	GE FACILITIES ITEMS				\$673,358.00		\$644,078.20		\$704,523.00
SUBTOTAL SECTION 2 PART A MISCELL	LANEOUS ITEMS				\$20,870.00		\$40,183.50		\$20,520.00
SUBTOTAL SECTION 2 PART B WATER	ITEMS				\$322,800.00		\$305,620.20		\$374,265.00
SUBTOTAL SECTION 2 PART B SANITAR	RY SEWER ITEMS				\$375,187.20		\$422,977.60		\$429,610.00
SUBTOTAL SECTION 2 PART B DRAINAG	GE FACILITIES ITEMS				\$210,926.00		\$202,227.30		\$330,284.00
SUBTOTAL SECTION 2 PART B MISCELL	LANEOUS ITEMS				\$80,128.00	4 7	\$105,756.70		\$54,878.00
TOTAL AMOUNT BASE BID					\$2,644,520.40		\$2,755,242.60		\$2,833,511.00

4) R CONSTRUCTION CIVIL, LLC

 
 Page 15 of 15
 FRN F-1386 LJA Engineering, Inc.

5) BLAZEY CONSTRUCTION SERVICES LLC 6) KENNETH LAMB CONSTRUCTION CO.,LTD.